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0 OO OO The lecture is mainly discussing ,

and by , challenging what are stated in the
reading passage that , and . First of
all, the speaker thinks that . In contrast, the reading
passage believes that . S0, the lecture totally disagree

with the view made in the reading. Second, the speaker discusses
, Contradicting what is stated in the reading that

. Finally, the speakers raises the issue that

. This point disagrees that
demonstrated in the reading. So, the contents in the reading passage
are totally jeopardized by the speaker and the speaker has totally
different ideas on the topics made in the reading. U U OO U 0O O O
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1.Address the writing topic effectively (U U 0O U 0O O 00 ) 2.Well
organized and well-developed (0 O 0O O O 0O O 0O O) 3.Use
specific details and examples to support your view (LJ O O 0O 0O )
4. Word choices and sentencevariety (U 0 OO0 OO ) 000 OO
[1 00 Do you agree or disagree with the following statement? [ [J [
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